
 Six Sigma MCQs (Chapters 1, 5, 6, 7, 8, 9, 10) 
 

Chapter 1: What is Six Sigma? 

1. What is the overarching goal of Six Sigma? 
A) Increase intuition-based decisions 
B) Eliminate customer needs 
C) Reduce variation and improve customer satisfaction 
D) Increase product costs 

Answer: C 

 

2. In Six Sigma, decisions should be based on: 
A) Experience only 
B) Measurement and metrics 
C) Guesswork 
D) Emotions 

Answer: B 

 

3. What is beta testing used for? 
A) To increase production errors 
B) To reduce risk by controlled environment trials 
C) To eliminate quality standards 
D) To remove customer feedback 

Answer: B 

 

4. Without Six Sigma, ideas are often implemented based on: 
A) Data analysis 
B) Controlled experimentation 
C) Past experiences or intuition 
D) Verified metrics 

Answer: C 



 

5. Six Sigma helps organizations: 
A) Eliminate decision-making completely 
B) Make better guesses 
C) Validate assumptions using statistical tools 
D) Remove leadership from decisions 

Answer: C 

 

6. What does "6σ" statistically represent? 
A) 66% defect-free processes 
B) 3.4 defects per million opportunities 
C) 10% customer satisfaction 
D) 233 defects per thousand 

Answer: B 

 

7. At Five Sigma, how many defects per million opportunities exist approximately? 
A) 3.4 
B) 233 
C) 10,000 
D) 1 

Answer: B 

 

8. Six Sigma aims for a process yield of: 
A) 95% 
B) 99.9% 
C) 99.99966% 
D) 100% 

Answer: C 

 

9. Which is an example of a real-world Six Sigma impact? 
A) 11,976 surgery errors at Six Sigma level 
B) 174 surgery errors annually at Six Sigma level 



C) 25,000 flight mistakes at Six Sigma 
D) 5,000 shipment errors daily 

Answer: B 

 

10. Calculating sigma level involves: 
A) (Number of defects / Opportunities) 
B) (Opportunities – Defects) × 100 / Opportunities 
C) Defects squared 
D) Random selection 

Answer: B 

 

Chapter 5: Basic Six Sigma Concepts 

11. The Pareto Principle suggests: 
A) 50% of problems cause 50% of effects 
B) 20% of causes create 80% of effects 
C) 90% of problems cause 10% of effects 
D) All problems have equal impact 

Answer: B 

 

12. VOC stands for: 
A) Validation of Control 
B) Voice of Customer 
C) Variance of Costs 
D) Verification of Controls 

Answer: B 

 

13. Standard deviation measures: 
A) The center of data 
B) The variability within data 
C) The absolute minimum 
D) Only quality defects 



Answer: B 

 

14. In Six Sigma, a basic metric is: 
A) Profit margin 
B) Customer loyalty 
C) Defects per million opportunities (DPMO) 
D) Employee turnover 

Answer: C 

 

15. Which is NOT a basic Six Sigma metric? 
A) DPMO 
B) Sigma Level 
C) Yield 
D) Return on Investment (ROI) 

Answer: D 

 

Chapter 6: Approaching the Problem 

16. In y = f(x), "x" represents: 
A) The dependent variable 
B) The output 
C) The input variables 
D) The defect rate 

Answer: C 

 

17. The purpose of the "5 Whys" is: 
A) To build teams 
B) To generate profit 
C) To find the root cause 
D) To brainstorm new products 

Answer: C 

 



18. A good problem statement should: 
A) Focus on opinions 
B) Be broad and general 
C) Clearly define the issue 
D) Assume the solution 

Answer: C 

 

19. In Six Sigma, asking “Why?” five times helps to: 
A) Increase problem complexity 
B) Decrease team involvement 
C) Identify the root cause 
D) Generate random ideas 

Answer: C 

 

20. A problem function in Six Sigma typically appears as: 
A) f(x) = y 
B) x = y(f) 
C) y = f(x) 
D) y = x + f 

Answer: C 

 

Chapter 7: What is a Process? 

21. A process is defined as: 
A) A sequence of random tasks 
B) A set of inputs producing a desired output 
C) A single decision point 
D) An unorganized event 

Answer: B 

 

22. SIPOC stands for: 
A) Suppliers, Inputs, Process, Outputs, Customers 
B) Solutions, Integration, Performance, Output, Control 



C) Systems, Inventory, Products, Optimization, Customers 
D) Samples, Inputs, Production, Output, Costs 

Answer: A 

 

23. The SIPOC diagram helps: 
A) Identify suppliers and customers only 
B) Build machinery 
C) Analyze the value stream at a high level 
D) Determine employee bonuses 

Answer: C 

 

24. A Process Owner is responsible for: 
A) Handling only employee salaries 
B) Leading marketing campaigns 
C) Managing and controlling the process performance 
D) Overseeing only the financial reports 

Answer: C 

 

25. Data in Six Sigma is important because: 
A) It delays decisions 
B) It provides a foundation for random guessing 
C) It ensures decisions are backed by facts 
D) It complicates simple problems 

Answer: C 

 

 

Chapter 8: Quality 

26. Critical to Quality (CTQ) characteristics are: 
A) Features important to internal employees 
B) Features that define what customers consider quality 



C) Features related to production speed only 
D) Characteristics of financial reporting 

Answer: B 

 

27. What does CoQ stand for? 
A) Control of Quality 
B) Cost of Quality 
C) Culture of Quality 
D) Certification of Quality 

Answer: B 

 

28. Which of the following is part of Cost of Poor Quality (CoPQ)? 
A) Preventing defects 
B) Cost of inspections 
C) Customer returns and rework costs 
D) Training sessions 

Answer: C 

 

29. Higher quality typically leads to: 
A) Increased costs 
B) Lower customer satisfaction 
C) Lower warranty claims and returns 
D) More variation 

Answer: C 

 

30. Cost of Quality (CoQ) includes: 
A) Only production costs 
B) Both prevention and failure-related costs 
C) Only marketing costs 
D) Only customer satisfaction costs 

Answer: B 



 

31. Critical to Quality attributes are often gathered from: 
A) Internal meetings 
B) Brainstorming sessions without customers 
C) Voice of Customer (VoC) data 
D) Financial statements 

Answer: C 

 

32. Prevention costs include: 
A) Warranties 
B) Customer dissatisfaction 
C) Training and quality planning 
D) Warranty claims processing 

Answer: C 

 

33. Which is a good reason to focus on CTQs early in a project? 
A) To save money only 
B) To guess customer needs 
C) To ensure processes meet customer expectations 
D) To decrease production entirely 

Answer: C 

 

34. External failure costs include: 
A) Defects caught inside the plant 
B) Customer complaints and returns 
C) Employee salaries 
D) Inspection activities 

Answer: B 

 

35. The ultimate goal of Quality initiatives in Six Sigma is to: 
A) Satisfy only executives 
B) Eliminate marketing 



C) Enhance customer satisfaction and business profitability 
D) Make products slower but cheaper 

Answer: C 

 

Chapter 9: Selecting the Right Projects 

36. Project selection should prioritize: 
A) Least expensive projects 
B) Projects with biggest impact and feasibility 
C) Random departmental choices 
D) Projects based only on customer opinion 

Answer: B 

 

37. Enterprise-level selection involves: 
A) Picking projects based on executive feelings 
B) Analyzing strategic goals and resources 
C) Guessing which projects customers will like 
D) Avoiding financial analysis 

Answer: B 

 

38. In project selection, a high DPMO (defects per million opportunities) suggests: 
A) Very stable process 
B) Low priority 
C) A potential improvement opportunity 
D) No need for Six Sigma 

Answer: C 

 

39. When juggling many projects, it's important to: 
A) Start everything at once 
B) Focus only on cost 
C) Balance capacity and project value 
D) Prioritize only new technology 



Answer: C 

 

40. Which of the following is a project selection factor? 
A) Publicity 
B) Return on Investment (ROI) 
C) Employee popularity 
D) Number of suppliers 

Answer: B 

 

41. When using Six Sigma, the "See for Yourself" concept encourages: 
A) Guessing solutions 
B) Getting direct data from the process 
C) Relying solely on charts 
D) Ignoring customer feedback 

Answer: B 

 

42. A critical mistake in project selection is: 
A) Doing a cost-benefit analysis 
B) Choosing based only on personal preferences 
C) Gathering customer data 
D) Analyzing strategic fit 

Answer: B 

 

43. Projects selected without data analysis: 
A) Are less risky 
B) Usually succeed easily 
C) May lead to wasted effort and poor results 
D) Save money automatically 

Answer: C 

 



44. Six Sigma projects are most successful when: 
A) They are based on guesses 
B) The problem and solution are clearly understood upfront 
C) No team involvement is required 
D) They avoid any customer input 

Answer: B 

 

45. A successful project charter includes: 
A) Vague problem statements 
B) Clear problem description, goals, scope, and timeline 
C) Only the name of the project leader 
D) Random assumptions 

Answer: B 

 

Chapter 10: Basic Six Sigma Team Management 

46. In Six Sigma, successful teams: 
A) Function without any clear roles 
B) Have clear responsibilities and leadership 
C) Avoid collaboration 
D) Work randomly 

Answer: B 

 

47. Which is NOT a typical Six Sigma team role? 
A) Champion 
B) Black Belt 
C) Customer Complaint Officer 
D) Green Belt 

Answer: C 

 

48. Six Sigma teams should have: 
A) Members from only one department 
B) A balance of technical skills and business understanding 



C) No communication protocols 
D) No deadlines 

Answer: B 

 

49. Timelines and milestones help teams to: 
A) Delay the project 
B) Track progress and stay on schedule 
C) Confuse members 
D) Increase costs 

Answer: B 

 

50. A realistic budget plan in Six Sigma projects: 
A) Should not include resources 
B) Is necessary to allocate time, money, and people properly 
C) Can be ignored until the end 
D) Includes only fixed salaries 

Answer: B 

 

 

Chapter 10: Basic Six Sigma Team Management (continued) 

51. Who is typically responsible for championing Six Sigma projects at the executive 
level? 
A) Black Belt 
B) Team Member 
C) Champion 
D) Green Belt 

Answer: C 

 

52. A Six Sigma Black Belt’s main responsibility is to: 
A) Lead the Six Sigma project team 
B) Approve financial statements 



C) Handle all HR operations 
D) Supervise executive management 

Answer: A 

 

53. Green Belts usually: 
A) Lead major Six Sigma initiatives without supervision 
B) Support projects part-time under Black Belts 
C) Only work in accounting 
D) Set company strategies 

Answer: B 

 

54. Master Black Belts primarily: 
A) Focus only on operations 
B) Train Black Belts and oversee complex projects 
C) Work only in marketing 
D) Handle customer complaints 

Answer: B 

 

55. A clear team structure helps to: 
A) Cause confusion 
B) Waste time 
C) Promote accountability and efficiency 
D) Eliminate documentation 

Answer: C 

 

56. A Six Sigma team meeting without a clear agenda often results in: 
A) Better innovation 
B) Increased efficiency 
C) Wasted time and unclear outcomes 
D) Higher morale 

Answer: C 



 

57. Budget planning in Six Sigma projects must account for: 
A) Only leadership salaries 
B) Training, software, meetings, and resources 
C) Just marketing ads 
D) Ignored completely if projects are important 

Answer: B 

 

58. Project milestones are: 
A) Important dates to monitor progress 
B) Optional steps 
C) Irrelevant to Six Sigma 
D) Only used in HR projects 

Answer: A 

 

59. Timeline adjustments are important when: 
A) The original goals change 
B) There are new team members 
C) Project scope increases 
D) All of the above 

Answer: D 

 

60. A team’s communication plan should: 
A) Be kept secret 
B) Include who communicates what, how often, and to whom 
C) Be decided only by the Black Belt 
D) Avoid involving executives 

Answer: B 

 

Chapter 5: Basic Six Sigma Concepts (Reinforcement) 



61. The Pareto Chart is used to: 
A) Show process mapping 
B) Prioritize problems based on impact 
C) Display only timelines 
D) Build fishbone diagrams 

Answer: B 

 

62. Defects per Million Opportunities (DPMO) measures: 
A) The total cost 
B) Number of defects per thousand 
C) Defect opportunities normalized to one million 
D) Only successful outcomes 

Answer: C 

 

63. Basic metrics in Six Sigma allow teams to: 
A) Track improvement 
B) Ignore customer complaints 
C) Plan marketing campaigns 
D) Increase salaries 

Answer: A 

 

64. When calculating yield, a higher yield means: 
A) Fewer defects 
B) More defects 
C) Higher costs 
D) More production waste 

Answer: A 

 

65. Voice of the Customer (VOC) is critical because: 
A) It reduces profits 
B) It helps focus on what matters to customers 



C) It complicates team discussions 
D) It is optional for Six Sigma 

Answer: B 

 

66. Poor VOC analysis may result in: 
A) Building products customers don’t want 
B) Saving money 
C) Better inventory management 
D) Faster Six Sigma certification 

Answer: A 

 

67. Which tool helps visualize the customer journey and identify CTQs? 
A) Control chart 
B) SIPOC 
C) Customer experience map 
D) FMEA 

Answer: C 

 

68. An example of a Critical-to-Quality factor for a pizza shop could be: 
A) Manager's favorite topping 
B) Number of employees 
C) Pizza temperature at delivery 
D) Factory rental cost 

Answer: C 

 

69. Six Sigma focuses on: 
A) Eliminating all employees 
B) Reducing variation and defects 
C) Lowering the number of suppliers 
D) Increasing management size 

Answer: B 



 

70. Continuous Process Improvement requires: 
A) Only one major improvement project 
B) Constant monitoring and further improvements 
C) Ignoring the control phase 
D) Outsourcing every department 

Answer: B 

 

Chapter 7: What is a Process? (Reinforcement) 

71. The term "Process Owner" refers to someone who: 
A) Funds the projects 
B) Is responsible for the output of the process 
C) Sells the process to customers 
D) Audits financial documents only 

Answer: B 

 

72. Inputs in SIPOC are: 
A) Final products 
B) Customer feedbacks 
C) Resources, materials, or information needed 
D) CEO decisions 

Answer: C 

 

73. An example of a SIPOC output could be: 
A) Raw material orders 
B) A completed service report 
C) Inventory checks 
D) Staff meetings 

Answer: B 

 



74. SIPOC diagrams are usually created: 
A) After the project finishes 
B) Before understanding the current state process 
C) As an early high-level overview 
D) Only during financial audits 

Answer: C 

 

75. Value Stream Mapping differs from SIPOC because it: 
A) Focuses only on defects 
B) Highlights every step from beginning to end, adding time and waste information 
C) Is used only for marketing 
D) Is less detailed than SIPOC 

Answer: B 

 

Chapter 8: Quality (continued) 

76. Prevention costs in quality are aimed at: 
A) Fixing errors after delivery 
B) Avoiding errors before they occur 
C) Managing financial reports 
D) Paying customer refunds 

Answer: B 

 

77. Internal failure costs occur when: 
A) Defects are found before reaching the customer 
B) Marketing fails 
C) The customer files a lawsuit 
D) Competitors lower prices 

Answer: A 

 

78. External failure costs are: 
A) Cheaper than internal failures 
B) Costs after the product reaches the customer 



C) Employee training costs 
D) Control chart expenses 

Answer: B 

 

79. Examples of appraisal costs include: 
A) Training new hires 
B) Customer surveys 
C) Inspection and testing 
D) Rework after shipment 

Answer: C 

 

80. Which cost type is usually highest if quality is poor? 
A) Prevention cost 
B) Appraisal cost 
C) External failure cost 
D) Training cost 

Answer: C 

 

81. Which of the following is an example of a prevention activity? 
A) Customer refunds 
B) Final inspections 
C) Supplier quality audits 
D) Fixing broken products 

Answer: C 

 

82. The higher the prevention costs invested: 
A) The lower the internal/external failure costs usually are 
B) The higher the rework rate 
C) The higher the DPMO rate 
D) The fewer customers the company will have 

Answer: A 



 

83. Quality initiatives should start by: 
A) Random brainstorming 
B) Addressing CTQs 
C) Launching all projects immediately 
D) Only measuring internal KPIs 

Answer: B 

 

84. CoPQ includes: 
A) Only defects noticed by customers 
B) Costs related to failures before and after delivery 
C) Preventive training sessions 
D) Bonus payouts to executives 

Answer: B 

 

85. A high CoPQ is a sign that: 
A) Processes are stable 
B) Major quality improvements are needed 
C) Training programs are too frequent 
D) The budget is perfectly balanced 

Answer: B 

 

Chapter 9: Selecting the Right Projects (continued) 

86. The "Cost of Delay" refers to: 
A) Extra profit made 
B) Lost opportunity or increased costs due to slow action 
C) Employee satisfaction rates 
D) Hiring bonuses 

Answer: B 

 



87. Which tool helps prioritize projects based on impact vs effort? 
A) SIPOC Diagram 
B) Pareto Chart 
C) Impact-Effort Matrix 
D) Fishbone Diagram 

Answer: C 

 

88. An urgent project with low financial impact should: 
A) Always be prioritized 
B) Be evaluated carefully before approval 
C) Be ignored 
D) Be outsourced immediately 

Answer: B 

 

89. Project prioritization in Six Sigma should consider: 
A) Only management opinion 
B) ROI, risk, customer impact, and feasibility 
C) CEO's last speech 
D) Annual holiday schedule 

Answer: B 

 

90. A project with low complexity and high benefit is: 
A) Likely a "Quick Win" 
B) High risk 
C) A bad choice 
D) Not suitable for Six Sigma 

Answer: A 

 

91. Enterprise-level selection ensures that: 
A) Random projects are chosen 
B) Company-wide goals align with project goals 



C) Only one department benefits 
D) The budget is ignored 

Answer: B 

 

92. An example of "See for Yourself" principle is: 
A) Conducting direct process observations 
B) Reading old reports only 
C) Assuming complaints are correct without data 
D) Using historical rumors 

Answer: A 

 

93. Process metrics for project selection are important because they: 
A) Create more paperwork 
B) Provide facts for better decision making 
C) Increase meetings 
D) Delay innovation 

Answer: B 

 

94. What is a potential risk when choosing too many projects at once? 
A) Improved focus 
B) Reduced workload 
C) Spreading resources too thin 
D) Cost savings 

Answer: C 

 

95. Choosing the wrong project can: 
A) Improve morale 
B) Waste resources and lose credibility 
C) Lower team stress 
D) Speed up certification 

Answer: B 



 

Chapter 10: Basic Six Sigma Team Management (wrap-up) 

96. In Six Sigma, clear team roles help to: 
A) Create more confusion 
B) Increase turnover 
C) Avoid duplication of effort 
D) Increase project costs 

Answer: C 

 

97. Team milestones ensure: 
A) The project fails faster 
B) Progress is measured and issues are caught early 
C) Only leaders are rewarded 
D) Delays are hidden 

Answer: B 

 

98. A common reason for team failure is: 
A) Too much funding 
B) Poor communication and undefined goals 
C) Excessive training 
D) Overuse of Six Sigma tools 

Answer: B 

 

99. Regular team meetings should: 
A) Be avoided to save time 
B) Focus on updates, blockers, and next steps 
C) Last the entire day 
D) Only involve leadership 

Answer: B 

 



100. Celebrating small successes in Six Sigma projects: 
A) Wastes time 
B) Improves team morale and engagement 
C) Is discouraged 
D) Reduces overall efficiency 

Answer: B 

 

             EXTRA QUESTIONS (Focused on chapter 10 roles) 

 

(A) Six Sigma Roles - Chapter 10 Focus 

1. In Six Sigma, who is mainly responsible for training Green Belts and overseeing 
multiple projects? 
A) Black Belt 
B) Master Black Belt 
C) Champion 
D) Process Owner 

Answer: B 

 

2. The Champion's role in Six Sigma projects is to: 
A) Manage day-to-day project tasks 
B) Provide executive-level support and remove roadblocks 
C) Conduct daily inspections 
D) Analyze customer complaints only 

Answer: B 

 

3. Which Six Sigma role typically leads individual improvement projects? 
A) Green Belt 
B) White Belt 
C) Black Belt 
D) Master Black Belt 

Answer: C 



 

4. Green Belts in Six Sigma typically: 
A) Work full-time on Six Sigma projects 
B) Support Six Sigma projects part-time while keeping regular job duties 
C) Manage the organization's finances 
D) Approve annual budgets 

Answer: B 

 

5. A Process Owner is primarily responsible for: 
A) Authorizing executive bonuses 
B) Maintaining and sustaining improvements in their specific process 
C) Designing company logos 
D) Leading all Six Sigma certification training 

Answer: B 

 

(B) Numerical and Calculation-Based Questions (im not sure of the answers) 

 

6. A process produces 200,000 units annually. It has 100 defects. What is the Yield (%)? 

Formula: 
Yield = [(Opportunities - Defects) / Opportunities] × 100 

Calculation: 
Yield = [(200,000 - 100) / 200,000] × 100 = (199,900 / 200,000) × 100 ≈ 99.95% 

   Answer: 99.95% 

 

7. If a process has a yield of 99.5%, what is the approximate Sigma Level (using 
simplified tables)? 
A) 3.0 Sigma 
B) 4.0 Sigma 
C) 4.1 Sigma 
D) 5.0 Sigma 



Answer: C 
(At 99.5% yield, Sigma level is about 4.1.) 

 

8. A process has 5,000 opportunities and 10 defects. What is the DPMO (Defects Per 
Million Opportunities)? 

Formula: 
DPMO = (Number of Defects / Number of Opportunities) × 1,000,000 

Calculation: 
DPMO = (10 / 5000) × 1,000,000 = 2,000 

   Answer: 2,000 DPMO 

 

9. In a process with a DPMO of 6,210, the Sigma level is approximately: 
A) 4.0 Sigma 
B) 3.5 Sigma 
C) 2.5 Sigma 
D) 5.5 Sigma 

Answer: A 
(6,210 DPMO ≈ 4.0 Sigma Level based on Sigma conversion charts.) 

 

10. If an operation at Five Sigma experiences 233 defects per million opportunities, 
how many errors would you expect if there were 10 million opportunities? 

Formula: 
Expected Errors = (DPMO / 1,000,000) × Total Opportunities 

Calculation: 
Expected Errors = (233 / 1,000,000) × 10,000,000 = 2,330 defects 

   Answer: 2,330 defects 

 

    Quick Notes for You: 

• Champion = Provides support, removes roadblocks, executive level. 



• Black Belt = Full-time project leader. 

• Green Belt = Part-time support while doing other work. 

• Master Black Belt = Trains and mentors Black Belts and Green Belts. 

• Process Owner = Sustains improvements long term after project ends. 

• DPMO = Defects per million opportunities — standardize defect rates. 

• Yield = How many items are produced defect-free. 

 

Extra overall questions  
__________________________________________________________________ 

Chapter 1 
1. What is the primary goal of Six Sigma? 

a) To increase product defects 

b) To reduce process variation and errors 

c) To increase customer dissatisfaction 

d) To maintain the status quo of a process 

Answer: b) To reduce process variation and errors 

2. In Six Sigma, decisions should be based on: 

a) Intuition 

b) Experience 

c) Measurement and metrics 

d) Gut feeling 

Answer: c) Measurement and metrics 

3. What is beta testing in the context of process improvement? 

a) Testing a product after full implementation 

b) Implementing a new idea with a select group in a controlled environment 



c) Ignoring potential problems to save time 

d) Avoiding any testing to reduce costs 

Answer: b) Implementing a new idea with a select group in a controlled environment 

4. What is the statistical representation of a "perfect" process in Six Sigma? 

a) 3σ 

b) 5σ 

c) 6σ 

d) 7σ 

Answer: c) 6σ 

5. A Six Sigma process aims to have how many defects per million opportunities? 

a) 233 

b) 3.4 

c) 1,000 

d) 1,000,000 

Answer: b) 3.4 

6. What is a key disadvantage of launching a product without using Six Sigma 
methodology? 

a) Lower customer satisfaction 

b) Reduced financial risk 

c) Fewer unintended consequences 

d) Quicker implementation 

Answer: a) Lower customer satisfaction 

7. Which of the following is a benefit of using Six Sigma? 

a) It guarantees perfect outcomes 

b) It avoids the need for control methods 



c) It helps predict outcomes with high accuracy 

d) It increases financial risk 

Answer: c) It helps predict outcomes with high accuracy 

8. What does the acronym VoC stand for? 

a) Value of Cost 

b) Voice of the Customer 

c) Variation of Control 

d) Velocity of Change 

Answer: b) Voice of the Customer 

9. What is a value stream? 

a) A collection of unrelated processes 

b) The sequence of activities required to produce an end result 

c) A department within an organization 

d) A financial report 

Answer: b) The sequence of activities required to produce an end result 

10. What is a key focus of Six Sigma regarding processes? 

a) Increasing variation 

b) Maintaining the status quo 

c) Reducing variation 

d) Ignoring process control 

Answer: c) Reducing variation 

11. Which of the following is a common challenge in implementing Six Sigma? 

a) Excessive support from leadership 

b) Abundance of resources 



c) Perception of being expensive 

d) Consistent access to knowledge 

Answer: c) Perception of being expensive 

12. In the example of the food processing plant, what was identified as a critical factor to 
consider in addition to sigma levels? 

a) The color of the packaging 

b) The cost of improvements and customer impact 

c) The number of employees 

d) The size of the plant 

Answer: b) The cost of improvements and customer impact 

13. What does Six Sigma aim to achieve by reducing variation and errors? 

a) Increased process costs 

b) Decreased customer satisfaction 

c) Reduced process costs and increased customer satisfaction 

d) Higher product defect rates 

Answer: c) Reduced process costs and increased customer satisfaction 

14. Which of the following is NOT a step in decision-making without Six Sigma? 

a) Implementing an idea based on past experience 

b) Using statistical analysis to validate assumptions 

c) Addressing problems after they impact products 

d) Weighing the success of an idea after implementation 

Answer: b) Using statistical analysis to validate assumptions 

15. What is the purpose of beta testing? 

a) To increase the risks of launching a product 

b) To test a product with the entire customer base 



c) To reduce the risks and costs of launching an unproven product or system 

d) To avoid correcting potential problems 

Answer: c) To reduce the risks and costs of launching an unproven product or system 

16. How does Six Sigma help organizations in decision-making? 

a) By relying solely on intuition 

b) By increasing financial risk 

c) By providing tools to visualize and predict outcomes 

d) By avoiding the use of statistical analysis 

Answer: c) By providing tools to visualize and predict outcomes 

17. What is the accuracy rate of a Six Sigma process? 

a) 99.97% 

b) 99.99966% 

c) 99.9% 

d) 99% 

Answer: b) 99.99966% 

18. Why is it important for organizations to focus on reducing errors? 

a) Errors have no impact on costs 

b) Higher error rates lead to increased customer satisfaction 

c) Errors can lead to significant financial costs 

d) Most customers accept high error rates 

Answer: c) Errors can lead to significant financial costs 

19. What does calculating the sigma level help an organization to do? 

a) Identify the most profitable process 

b) Determine which process to improve first 



c) Reduce customer satisfaction 

d) Increase process variation 

Answer: b) Determine which process to improve first 

20. Which of the following is a core principle of the Six Sigma methodology? 

a) Customer-focused improvement 

b) Increasing waste 

c) Disregarding customer feedback 

d) Avoiding continuous improvement 

Answer: a) Customer-focused improvement 

Chapter 5 
21. What does 'CTQ' stand for in the context of process improvement? 

a) Critical to Quality 

b) Control the Quantity 

c) Change the Quotient 

d) Customer Transaction Quality 

Answer: a) Critical to Quality 

22. Why are CTQs important in process improvement? 

a) They broaden the work scope 

b) They help in understanding how to enact change 

c) They increase ambiguity in project goals 

d) They are not important 

Answer: b) They help in understanding how to enact change 

23. What is the Pareto Principle? 

a) A method to calculate sigma levels 

b) A statistical technique to identify process variation 



c) The 80/20 rule 

d) A tool for value stream mapping 

Answer: c) The 80/20 rule 

24. In the Pareto Principle, what does the 80/20 rule suggest? 

a) 80% of the results are caused by 20% of the inputs 

b) 20% of the results are caused by 80% of the inputs 

c) All inputs are equally responsible for the results 

d) There is no significant relationship between inputs and results 

Answer: a) 80% of the results are caused by 20% of the inputs 

25. What is 'Voice of the Customer' (VoC)? 

a) The cost of goods sold 

b) Customer feedback and requirements 

c) The company's internal communication strategy 

d) A metric for employee satisfaction 

Answer: b) Customer feedback and requirements 

26. Why is understanding the VoC important? 

a) It helps to increase costs 

b) It helps to decrease customer loyalty 

c) It helps businesses customize product offerings 

d) It is not important 

Answer: c) It helps businesses customize product offerings 

27. What is 'standard deviation'? 

a) The average of a dataset 

b) A measure of the spread of data points from the mean 



c) The most frequent value in a dataset 

d) The range of values in a dataset 

Answer: b) A measure of the spread of data points from the mean 

28. How is standard deviation typically represented? 

a) μ (mu) 

b) σ (sigma) 

c) x̄ (x-bar) 

d) % (percentage) 

Answer: b) σ (sigma) 

29. What does 'DPMO' stand for? 

a) Defects Per Million Operations 

b) Dollars Per Month Overhead 

c) Decisions Per Member Opinion 

d) Data Points Measured Overall 

Answer: a) Defects Per Million Opportunities 

30. What is 'yield' in the context of Six Sigma? 

a) The cost of production 

b) The number of defects 

c) The percentage of products without defects 

d) The number of customers served 

Answer: c) The percentage of products without defects 

31. What is the purpose of a Failure Modes and Effects Analysis (FMEA)? 

a) To calculate standard deviation 

b) To identify potential failures and their effects 



c) To measure customer satisfaction 

d) To create Pareto charts 

Answer: b) To identify potential failures and their effects 

32. Which of the following is a basic metric used in Six Sigma? 

a) Voice of the Customer 

b) Defects Per Million Opportunities (DPMO) 

c) Regression analysis 

d) Hypothesis testing 

Answer: b) Defects Per Million Opportunities (DPMO) 

33. What does the formula "=B2/C2" calculate in the context of the document? 

a) Total sales 

b) Total returns 

c) Percentage of returns per sales 

d) Average sales price 

Answer: c) Percentage of returns per sales 

34. What is the primary focus when using the Voice of the Customer (VoC) in Six 
Sigma? 

a) Increasing product costs 

b) Understanding what the customer wants 

c) Ignoring customer feedback 

d) Decreasing customer satisfaction 

Answer: b) Understanding what the customer wants 

35. What is the purpose of identifying Critical to Quality (CTQ) characteristics? 

a) To broaden the work scope 

b) To understand how to enact change 



c) To increase project ambiguity 

d) To avoid process improvement 

Answer: b) To understand how to enact change 

36. What does the Pareto Principle help Six Sigma teams to do? 

a) Calculate sigma levels 

b) Identify the most significant factors 

c) Create value stream maps 

d) Measure standard deviation 

Answer: b) Identify the most significant factors 

37. In the context of the text, what is 'yield' a measure of? 

a) The number of defects in a process 

b) The cost of production 

c) The percentage of defect-free products 

d) Customer satisfaction 

Answer: c) The percentage of defect-free products 

38. What is the significance of understanding standard deviation in Six Sigma? 

a) It helps to find the average value 

b) It measures the spread of data points 

c) It identifies the most frequent value 

d) It calculates the range of values 

Answer: b) It measures the spread of data points 

39. Which of the following is NOT a benefit of understanding the Voice of the Customer 
(VoC)? 

a) Developing new ideas based on customer feedback 

b) Prioritizing product development 



c) Increasing customer dissatisfaction 

d) Identifying areas of concern 

Answer: c) Increasing customer dissatisfaction 

40. What does a Failure Modes and Effects Analysis (FMEA) primarily help to identify? 

a) Statistical significance 

b) Potential failures and their effects 

c) Customer demographics 

d) Market trends 

Answer: b) Potential failures and their effects 

Chapter 6 
41. What is the basic formula representing problem functions in the context of the 

chapter? 

a) y = x + f 

b) y=f(x) 
c) x = y - f 

d) y = x/f 

Answer: b) y=f(x) 

42. What is the purpose of the '5 Whys' technique? 

a) To find quick solutions 

b) To identify the root cause of a problem 

c) To assign blame 

d) To avoid problem-solving 

Answer: b) To identify the root cause of a problem 

43. What is the first step in creating a fishbone diagram? 

a) Draw the bones 

b) Label the connectors 



c) Sketch a fishbone shape and write the problem 

d) Explain the categories 

Answer: c) Sketch a fishbone shape and write the problem 

44. What are the typical major connectors in a fishbone diagram? 

a) People, Process, Materials, Procedure 

b) Finance, Marketing, Sales, HR 

c) Inputs, Outputs, Controls, Feedback 

d) Strengths, Weaknesses, Opportunities, Threats 

Answer: a) People, Process, Materials, Procedure 

45. What is the purpose of a problem statement? 

a) To provide a solution 

b) To clearly define the issue 

c) To assign blame 

d) To avoid analysis 

Answer: b) To clearly define the issue 

46. In the context of problem-solving, what does the variable ‘y’ typically represent? 

a) The input 

b) The output or result 

c) The function 

d) The cause 

Answer: b) The output or result 

47. Which of the following is a key benefit of using the ‘5 Whys’ technique? 

a) It always provides 5 solutions 

b) It helps to dig deeper into the problem 



c) It is a quick fix 

d) It avoids asking questions 

Answer: b) It helps to dig deeper into the problem 

48. What is another name for a fishbone diagram? 

a) 5 Whys diagram 

b) Flowchart 

c) Ishikawa diagram 

d) Pareto chart 

Answer: c) Ishikawa diagram 

49. In a fishbone diagram, what do the ‘bones’ represent? 

a) Solutions 

b) Potential causes 

c) Effects 

d) Data points 

Answer: b) Potential causes 

50. Why is it important to clearly define a problem statement? 

a) To focus the problem-solving efforts 

b) To complicate the analysis 

c) To avoid finding a solution 

d) It is not important 

Answer: a) To focus the problem-solving efforts 

 _____________________________________________ 

Harder: 
Chapter 1 



1. What is the primary aim of Six Sigma within an organization? 

a) To minimize employee turnover by focusing on HR practices. 

b) To enhance marketing strategies to attract more customers. 

c) To reduce variability in processes, leading to fewer defects and increased customer 
satisfaction. 

d) To maximize short-term profits through aggressive cost-cutting measures. 

Answer: c) To reduce variability in processes, leading to fewer defects and increased 
customer satisfaction. 

 

 

2. In Six Sigma methodology, decisions are predominantly driven by: 

a) Historical trends and industry benchmarks without current data analysis. 

b) The consensus of senior management's opinions and experiences. 

c) Statistical analysis of measurable data and process metrics. 

d) Immediate financial gains and quarterly profit targets. 

Answer: c) Statistical analysis of measurable data and process metrics. 

 

 

3. What does beta testing primarily involve in a Six Sigma project? 

a) A full-scale product launch to gather widespread public feedback. 

b) An initial marketing campaign to gauge consumer interest. 

c) Implementing a solution in a controlled environment with a select group to identify 
potential issues. 

d) A post-implementation review to assess financial outcomes. 

Answer: c) Implementing a solution in a controlled environment with a select group to 
identify potential issues. 

 



 

4. Which sigma level is the target for a process under Six Sigma methodology? 

a) 3σ, aiming for industry average defect rates. 

b) 5σ, balancing cost-efficiency and moderate defect reduction. 

c) 6σ, striving for near-perfect quality with minimal defects. 

d) 7σ, an unattainable level focused on theoretical perfection. 

Answer: c) 6σ, striving for near-perfect quality with minimal defects. 

 

 

5. What is the acceptable level of defects per million opportunities (DPMO) in a Six 
Sigma process? 

a) 233 DPMO, acknowledging a moderate level of process inefficiency. 

b) 6.0 DPMO, indicating a highly efficient process with minimal errors. 

c) 3.4 DPMO, the benchmark for Six Sigma's near-perfect quality. 

d) 1,000 DPMO, a standard acceptable in traditional quality control. 

Answer: c) 3.4 DPMO, the benchmark for Six Sigma's near-perfect quality. 

6. What is a potential consequence of deploying a product or service without 
employing Six Sigma principles? 

a) Enhanced market agility due to rapid deployment. 

b) Reduced initial costs by skipping thorough process analysis. 

c) Increased likelihood of defects, inefficiencies, and customer dissatisfaction. 

d) Greater flexibility to adapt to changing market demands. 

Answer: c) Increased likelihood of defects, inefficiencies, and customer dissatisfaction. 

 

 

7. Which statement best reflects a benefit of utilizing Six Sigma? 

a) It guarantees zero defects, eliminating the need for ongoing quality control. 



b) It offers a framework for reactive problem-solving rather than proactive prevention. 

c) It enhances the ability to predict process outcomes and reduce variability. 

d) It simplifies complex processes by removing necessary control measures. 

Answer: c) It enhances the ability to predict process outcomes and reduce variability. 

 

 

8. What does the acronym VoC represent in Six Sigma? 

a) Variation of Costs, a financial analysis tool. 

b) Value of Company, a measure of organizational worth. 

c) Voice of the Customer, capturing customer needs and feedback. 

d) Velocity of Change, assessing the speed of process improvements. 

Answer: c) Voice of the Customer, capturing customer needs and feedback. 

 

 

9. How is a value stream best defined in the context of Six Sigma? 

a) As a department-specific workflow within an organization. 

b) As the collection of financial transactions over a fiscal period. 

c) As the sequence of activities that create and deliver a product or service to a customer. 

d) As the inventory management system for raw materials. 

Answer: c) As the sequence of activities that create and deliver a product or service to a 
customer. 

 

 

10. What is the primary focus of Six Sigma concerning process variation? 

a) To accept and adapt to inherent fluctuations in processes. 

b) To maintain the existing level of variability to ensure process stability. 



c) To identify and minimize variability to improve consistency and quality. 

d) To increase variability to allow for greater product customization. 

Answer: c) To identify and minimize variability to improve consistency and quality. 

 

 

11. Which of the following is commonly perceived as a challenge in Six Sigma 
implementation? 

a) Overabundance of resources and lack of constraints. 

b) Consistent and unwavering support from all levels of leadership. 

c) The initial investment and the perception of high implementation costs. 

d) Ease of access to comprehensive training and expert knowledge. 

Answer: c) The initial investment and the perception of high implementation costs. 

 

 

12. In the food processing plant scenario, what critical consideration was highlighted 
alongside sigma levels? 

a) The aesthetic appeal of the product packaging. 

b) The employee satisfaction levels across departments. 

c) The balance between the cost of improvements and the impact on customer 
satisfaction. 

d) The plant's geographical location and its impact on logistics. 

Answer: c) The balance between the cost of improvements and the impact on customer 
satisfaction. 

 

 

13. What is the ultimate goal of Six Sigma in terms of cost and customer satisfaction? 

a) To increase both process costs and customer expectations. 



b) To reduce process costs while maintaining current levels of customer satisfaction. 

c) To increase process costs to achieve higher customer satisfaction. 

d) To reduce process costs and enhance customer satisfaction. 

Answer: d) To reduce process costs and enhance customer satisfaction. 

 

 

14. Which does NOT characterize decision-making in the absence of Six Sigma? 

a) Reliance on anecdotal evidence and past practices. 

b) Proactive use of statistical tools to validate assumptions. 

c) Reactive approach to problem-solving after issues arise. 

d) Subjective assessment of outcomes based on intuition. 

Answer: b) Proactive use of statistical tools to validate assumptions. 

 

 

15. What is the primary purpose of beta testing within Six Sigma? 

a) To maximize product risks for greater innovation. 

b) To test a fully launched product in the open market. 

c) To minimize the risks and costs associated with launching an unproven product. 

d) To bypass quality checks to expedite time to market. 

Answer: c) To minimize the risks and costs associated with launching an unproven product. 

 

 

16. How does Six Sigma enhance organizational decision-making processes? 

a) By encouraging decisions based solely on executive intuition. 

b) By increasing financial risks to foster innovation. 

c) By providing tools for data visualization and outcome prediction. 



d) By eliminating the need for data collection and analysis. 

Answer: c) By providing tools for data visualization and outcome prediction. 

 

 

17. What level of process accuracy does Six Sigma aim to achieve? 

a) 99.9% accuracy, allowing for a small margin of error. 

b) 99.99% accuracy, significantly reducing defects. 

c) 99.99966% accuracy, striving for near-perfect process execution. 

d) 100% accuracy, the theoretical ideal in process management. 

Answer: c) 99.99966% accuracy, striving for near-perfect process execution. 

 

 

18. Why do organizations prioritize reducing errors within their operations? 

a) Errors have a negligible impact on overall costs. 

b) Higher error rates correlate with increased customer satisfaction. 

c) Errors can lead to substantial financial losses and reputational damage. 

d) Most customers are tolerant of high error rates. 

Answer: c) Errors can lead to substantial financial losses and reputational damage. 

 

 

19. What does calculating the sigma level enable an organization to determine? 

a) The process with the highest profitability margin. 

b) The process that requires the least amount of improvement. 

c) The process that should be prioritized for improvement efforts. 

d) The process that is least critical to customer satisfaction. 

Answer: c) The process that should be prioritized for improvement efforts. 



 

 

20. Which principle is fundamental to the Six Sigma methodology? 

a) Focus on maximizing output regardless of customer needs. 

b) Emphasis on reactive problem-solving over proactive improvement. 

c) Commitment to continuous, customer-focused process improvement. 

d) Prioritizing cost-cutting over quality and customer satisfaction. 

Answer: c) Commitment to continuous, customer-focused process improvement. 

 

 

Chapter 5 

21. What does the acronym 'CTQ' signify in the context of Six Sigma? 

a) Cost-effective Transaction Quotient 

b) Critical to Quality 

c) Customer Throughput Quantity 

d) Continuous Technical Upgrade 

Answer: b) Critical to Quality 

 

 

22. Why are Critical to Quality (CTQ) characteristics essential in process improvement? 

a) They broaden the project scope, incorporating all possible variables. 

b) They provide a clear understanding of customer requirements, guiding improvement 
efforts. 

c) They increase ambiguity in project goals, fostering creative solutions. 

d) They are merely theoretical concepts with limited practical application. 

Answer: b) They provide a clear understanding of customer requirements, guiding 
improvement efforts. 



 

 

23. What does the Pareto Principle, often referred to as the 80/20 rule, imply? 

a) All inputs in a process contribute equally to the output. 

b) A majority of effects come from a minority of causes. 

c) The most obvious problems should be addressed first. 

d) Quality improvement should focus on incremental changes. 

Answer: b) A majority of effects come from a minority of causes. 

 

 

24. According to the Pareto Principle, how are inputs and outcomes typically related? 

a) 20% of the inputs are responsible for 20% of the outcomes. 

b) 80% of the inputs are responsible for 80% of the outcomes. 

c) 20% of the inputs are responsible for 80% of the outcomes. 

d) Inputs and outcomes are unrelated. 

Answer: c) 20% of the inputs are responsible for 80% of the outcomes. 

 

25. What does 'Voice of the Customer' (VoC) primarily involve? 

a) The cost of goods sold and related financial metrics. 

b) Internal communications within the organization. 

c) Feedback and requirements expressed by customers. 

d) Employee satisfaction and internal morale. 

Answer: c) Feedback and requirements expressed by customers. 

 

 

26. Why is it crucial to understand the Voice of the Customer (VoC)? 



a) To minimize product offerings and reduce variety. 

b) To increase operational costs and complexity. 

c) To align product development with customer needs and expectations. 

d) To limit customer interaction and streamline operations. 

Answer: c) To align product development with customer needs and expectations. 

 

 

27. What does 'standard deviation' measure? 

a) The average value of a dataset. 

b) The most frequently occurring value in a dataset. 

c) The range between the highest and lowest values in a dataset. 

d) The dispersion or spread of data points around the mean. 

Answer: d) The dispersion or spread of data points around the mean. 

 

 

28. Which symbol is commonly used to represent standard deviation? 

a) μ (mu) 

b) x̄  (x-bar) 

c) σ (sigma) 

d) % (percentage) 

Answer: c) σ (sigma) 

 

 

29. What does 'DPMO' stand for in Six Sigma? 

a) Decisions Per Member Opinion 

b) Dollars Per Month Overhead 



c) Defects Per Million Opportunities 

d) Data Points Measured Overall 

Answer: c) Defects Per Million Opportunities 

 

 

30. How is 'yield' defined within the context of Six Sigma? 

a) The total cost of production. 

b) The number of defects in a batch. 

c) The percentage of defect-free products or services. 

d) The total number of customers served. 

Answer: c) The percentage of defect-free products or services. 

 

 

31. What is the primary purpose of a Failure Modes and Effects Analysis (FMEA)? 

a) To measure customer satisfaction levels. 

b) To calculate statistical measures like standard deviation. 

c) To identify potential failures in a process and their possible effects. 

d) To create Pareto charts for data visualization. 

Answer: c) To identify potential failures in a process and their possible effects. 

 

 

32. Which of the following is considered a fundamental metric in Six Sigma? 

a) Voice of the Employee (VoE) 

b) Customer Relationship Management (CRM) score 

c) Defects Per Million Opportunities (DPMO) 

d) Return on Investment (ROI) 



Answer: c) Defects Per Million Opportunities (DPMO) 

 

 

34. What is the main emphasis when utilizing the Voice of the Customer (VoC) in Six 
Sigma? 

a) Minimizing product variety to reduce complexity. 

b) Understanding and meeting customer needs and expectations. 

c) Ignoring customer feedback to streamline operations. 

d) Reducing customer interaction to lower costs. 

Answer: b) Understanding and meeting customer needs and expectations. 

 

 

35. Why is it important to identify Critical to Quality (CTQ) characteristics in a process? 

a) To broaden the project scope and include all possible issues. 

b) To understand the specific customer requirements that the process must satisfy. 

c) To increase project ambiguity and encourage innovative solutions. 

d) To avoid process improvement activities and maintain the status quo. 

Answer: b) To understand the specific customer requirements that the process must 
satisfy. 

 

 

36. How does the Pareto Principle aid Six Sigma teams in their improvement efforts? 

a) By providing a method to calculate sigma levels. 

b) By helping to identify the most significant factors contributing to a problem. 

c) By assisting in the creation of value stream maps. 

d) By measuring the standard deviation of a process. 

Answer: b) By helping to identify the most significant factors contributing to a problem. 



 

 

37. What does 'yield' specifically measure in a Six Sigma context? 

a) The total number of defects in a process. 

b) The cost associated with producing a product. 

c) The proportion of products or services that are free from defects. 

d) The level of customer satisfaction with a product. 

Answer: c) The proportion of products or services that are free from defects. 

 

 

38. What is the primary significance of understanding standard deviation in Six Sigma? 

a) It helps in determining the average value of a dataset. 

b) It quantifies the amount of variation or dispersion in a dataset. 

c) It identifies the most frequently occurring value in a dataset. 

d) It calculates the range of values within a dataset. 

Answer: b) It quantifies the amount of variation or dispersion in a dataset. 

 

 

39. Which of the following does NOT represent a benefit of understanding the Voice of 
the Customer (VoC)? 

a) Developing innovative ideas based on customer input. 

b) Prioritizing product development efforts. 

c) Increasing customer dissatisfaction to drive change. 

d) Identifying areas of customer concern. 

Answer: c) Increasing customer dissatisfaction to drive change. 

 



 

40. What is the primary outcome of conducting a Failure Modes and Effects Analysis 
(FMEA)? 

a) An assessment of statistical significance in data. 

b) The identification of potential failure points and their consequences. 

c) A detailed analysis of customer demographics. 

d) A forecast of future market trends. 

Answer: b) The identification of potential failure points and their consequences. 

 

 

Chapter 6 

41. What is the fundamental equation that expresses problem functions in the context 
of the chapter? 

a) y = x + f 

b) x = y - f 

c) y = x/f 

d) y = f(x) 

Answer: d) y = f(x) 

 

42. What is the main objective of employing the '5 Whys' technique? 

a) To implement immediate, short-term solutions. 

b) To pinpoint the ultimate root cause of a problem. 

c) To assign responsibility or blame for a problem. 

d) To bypass detailed problem analysis. 

Answer: b) To pinpoint the ultimate root cause of a problem. 

 

 



43. What is the initial step in the creation of a fishbone diagram? 

a) Drawing the main "bones" of the diagram. 

b) Labeling the major categories of causes. 

c) Sketching the fishbone outline and stating the problem. 

d) Explaining the significance of each category. 

Answer: c) Sketching the fishbone outline and stating the problem. 

 

 

44. Which of the following sets represents the typical major categories in a fishbone 
diagram? 

a) Finance, Marketing, Sales, Human Resources 

b) Inputs, Outputs, Controls, Feedback 

c) Strengths, Weaknesses, Opportunities, Threats 

d) People, Process, Materials, Equipment 

Answer: d) People, Process, Materials, Equipment 

45. What is the key purpose of formulating a problem statement? 

a) To propose a solution to the problem. 

b) To provide a clear and concise definition of the problem. 

c) To assign blame for the problem's occurrence. 

d) To avoid conducting a thorough analysis. 

Answer: b) To provide a clear and concise definition of the problem. 

 

 

46. In the context of problem-solving functions, what does the variable 'y' generally 
stand for? 

a) The input to the function. 

b) The output or result of the function. 



c) The function itself. 

d) The cause of the problem. 

Answer: b) The output or result of the function. 

 

47. What is a primary advantage of utilizing the '5 Whys' technique? 

a) It consistently yields five distinct solutions. 

b) It facilitates a deeper investigation into the problem. 

c) It offers a quick and superficial solution. 

d) It discourages the use of questioning. 

Answer: b) It facilitates a deeper investigation into the problem. 

 

48. What is an alternative term for a fishbone diagram? 

a) 5 Whys diagram 

b) Flowchart 

c) Ishikawa diagram 

d) Pareto chart 

Answer: c) Ishikawa diagram 

 

 

49. Within a fishbone diagram, what do the "bones" signify? 

a) Proposed solutions 

b) Potential causes of the problem 

c) Observed effects of the problem 

d) Collected data points 

Answer: b) Potential causes of the problem 

 



 

50. Why is the clear definition of a problem statement essential? 

a) To complicate the problem-solving process. 

b) To prevent the identification of a solution. 

c) To concentrate and direct problem-solving efforts. 

d) It is not actually important. 

Answer: c) To concentrate and direct problem-solving efforts. 

 

 

 


